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Worksheet: -4  Subject: - Mathematics  Class:-III      Teacher:-Mrs. Neena Gupta 

Name:-_______         Class & Sec.:-_____                  Roll No.:-____           Date:- 

  

Lesson:-3,8 

 

Q.1) Choose  the correct answer:- 

i) 2870- __________=2870 

a)  1  b)  0  c) 2870  d)2780 

 

ii) 50 paise – 25 paise = __________ paise 

a) 35 paise b) 25 paise  c) 30 paise  d) 40 paise 

 

iii) There are ___________ 50 p coins in ₹ 5. 

a) 10   b) 20   c) 0    d) 5 

iv) Subtracting zero from any number, the answer is___________ 

a)  zero b) number itself  c) ten  d) hundred 

 

v)  Th H T O 

 5 6 8 0 

         - 1 3 7 5 

     _________________________ 

     _________________________ 

a) 6305  b) 4305  c) 4503  d) 4053 
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vi)   9361 

 -4362 

    ________________ 

    ________________ 

a)  4000  b) 4949  c) 4999   d) 9494 

 

vii) What should be added to 2340 to get 5000? 

a)  2620  b) 2660  c) 2006  d) 2060 

 

viii) 1875 paise = ₹ ________________ 

a) ₹ 187.5   b) ₹ 18.75   c) ₹ 1.875   d) ₹ 18.57 

 

xi)  ₹  p 

 540  82 

 200  18 

 + 017  09 

       _________________________ 

       _________________________ 

a) ₹ 758.09  b) ₹ 750.90  c) ₹ 790.50  d) ₹ 709.50 
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x)   ₹  p 

 210  08 

     - 115  12 

       _________________________ 

       _________________________ 

 

a) ₹ 96.94  b) ₹ 94.96  c) ₹ 99.94  d) ₹ 96.40  

 

 


